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16H CLEVELAND 25 19 2 4 10 14 6 8 10 2 4 108 1st
92W WESTVIEW 2 9 2 2 6 4 8 6 8 8 6 61 2nd
37H LINCOLN 7 10 6 6 10 2 12 57 3rd
15X CLACKAMAS 19 7 10 2 6 44 | T-4th
67M SAM BARLOW 8 8 8 4 2 2 10 2 44 | T-4th
79C SPRAGUE 2 4 10 2 4 10 6 38
77K SOUTHRIDGE 6 2 6 6 8 4 2 34
94H WILSON 7 10 10 4 2 33
34X LAKE OSWEGO 10 2 4 4 8 28
1W ALOHA 15 4 19
88D WEST ALBANY 7 2 2 4 15
27R GRANTS PASS 2 2 2 4 4 14
35X LAKERIDGE 6 7 13
81K SUNSET 4 6 2 12
84K TIGARD 4 4 2 2 12
9A CANBY 2 8 10
22A FOREST GROVE 10 10
24W GLENCOE 6 2 2 10
89X WEST LINN 2 2 2 2 8
39A MCMINNVILLE 2 2 2 6
74E SOUTH EUGENE 2 2 2 6
75G SOUTH MEDFORD 2 4 6
13W CENTURY 4 4
28M GRESHAM 4 4
53G NORTH MEDFORD 4 4
93E WILLAMETTE 2 2
4K BEAVERTON 0
10M CENTENNIAL 0
83E THURSTON 0
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